1

Question

The velocity of sound in the air (vacuum) is:

gar (3w # eafar & aifa &

A 331 m /sec
B 220 m/ sec
C 110 m / sec
D 232 m/ sec
Answer |A




Id 2

Question | The normal temperature of the human body is:
AlTd R I WA JdIAT §

A 280 K
B 290 K
C 300 K
D 310 K

Answer |D




Id 3
Questio | Which of the following is the best conductor of heat?
n 7 # @ Sl A1 FAT T qGQ IS dTelh g
A Mercury
URT
B Water
qret!
C Leather
TJHST
D Benzene
Sotte
Answer A




Id 4
Question The lightis a :
UehTA Teh @
A Transverse wave
HIFET A
B Longitudinal wave
HLEA T
C Both
alar
D None
HIg el
Answer |A




Id 5

Question An object weights the maximum in:

A Air
arg

B Water
qreAl

C Hydrogen
GESED]

D Vacuum
foata

Answer |D




Id 6

Question The shortest unit of length is:

A Micron
HISshlel

B Nanometer
AT

C Angstrum
TITECH

D Fermimeter

BfFAA

Answer |D




Id 7

Question The coil in a heater is made of?

Teh gied H dR e el @ &1 8lcm § |

A Nichrome
IGEIE:

B Tungsten
GEjR )

C Copper
SICIH

D Iron

aTET

Answer |A




Id 8
Question Who gave the theory of gravity?
Tecarehyur ffterd fhaer fear 2
A Charles Newton
dled rij\dd‘l
B Charles Babbage
AT Seof
C Issac Newton
TS 7L
D John Adams
Silel Us&H
Answer |C




Id 9
Question Who was the inventor of positron?
gifoiglel T 3MTAShRE dhied AT ?
A Rutherford
EIHIS
B J.J. Thomson
33, ATHEST
C Chadwick
BIEIEEY
D Anderson
TSTHA
Answer |D




Id 10
Question Curie is the unit of:
FU frehr 5% &
A Radioactivity
EDIBIEG)
B Temperature
SISEaIGH
C Heat
SCAT
D Energy
Sl
Answer |A




Id 11
Question Relative humidity is measured by:
qrueT 3Medr fohdeh CART AT ST 8
A Hydrometer
EETICA
B Hygrometer
HEDIE LAY
C Lactometer
[SCTAPaI[Ly
D Potentiometer
qrefraHeT
Answer |B




Id 12
Question The SI unit of mechanical power is:
I ATFd T SISFHE &
A Joule
Siter
B Watt
dc
C Newton-second
D Joule-second
STl-8h3
Answer |B




Id 13

Question The velocity of light in vacuum or air is-

dFgH AT gaT A geprer dr AfT ¢ -

A 9% 10 m/sec
B 3x10" m/ sec
C 3%x10%m/ sec
D 2x10%m/ sec

Answer |C




Id 14
Question The unit of work is:
HIT FT 3PS §
A Joule
olel
B Newton
Sk Sl
C Watt
dc
Dyne
b SED)
Answer |A




Id 15

Question Weighing 1 kilogram is the weight

1 frettam i &1 aotet ¢ |
A IN
B 10N
C 9.8 N
D 9N

Answer |C




Id 16

Question Commonly heat of the human body in Fahrenheit-
HIETgIec AT & A WK & JHT a9 § -

A 97

B 97.5

C 98

D 98.6

Answer |D




Id 17

Question The measure of inductance is —
URehcd I AR @ -

A Ampere
[UESRRY

B Coulomb
GolFe

C Henry
SRy

D Ohm

3gH

Answer |C




Id

18

Question Neutron was discovered -
=gglel T Wiel fohdet & o -

A Rutherford

WEXHS o
B Thomson

AT AT o
C Chadwick

dsfas o
D Newton

=gl o

Answer




Id
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Question Which element is found in the highest amount in the universe?
SFEIUS H Fad AU ATHT H HidA-A1 ded AT ST & 2
A Hydrogen
EEEn)
B Nitrogen
ATSEIoTeT
C Helium
Siferad
D Oxygen
HirdIsTet

Answer




Id 20
Question Who gave the principle of relativity?
AT9eTdr &1 fAeeled fohasr fear 2
A Newton
i Shl
B Pascal
gi&hel
C Einstein
IMSE
D Archimedes
ARSI
Answer |C




Id 21
Question Who discovered the priniciple of 'Law of Floating'?
“NA & TAESd" 1 @il fhast $r o4 2
“A Newton
e
B Writer Brothers
TS s
C Galileo
Fenferar
D Archimedes
nfrfASS
Answer |D




Id
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Question

Goitre/ excessive growth of thoroid gland causes by the deficiency of:

MSY/ARITS AT $T ATt e fhaeh HaAT & HROT el &

A Iodine
TS
B Iron
e
C Calcium
iR TH
D Potassium
qrefrH

Answer




Id 23
Question Cytology is:
? 1Y) f g_ :
A Study of bacteria
SFRAT FT 3ETTA
B Study of crops
BT HT T
C Study of cells
HITRARIHT HT HETT
D Study of demography
AR FI ITETTT
Answer |C




Id 24
Question The disease 'athlete foot' is caused by -
T T Fe' fohds HROT BT & -
A Bacteria
Siraroy
B Fungi
chdch
C Protozoa
SIS
D Virus
arayd
Answer |B




Id 25
Question Blood is a/n
Fd & Th

A Connective tissue
HASH Fceh

B Epithelial tissue
SUanecll cddoh

C Both of the above
I & gl

D None of the above
SIH § FIg o gl

Answer |A




Id 26

Question Which part of animal cell is called powerhouse?

Sted HITART & fohg FET A ATaE3d Sgl Sl ¢ 2

A Cell wall
el arol

B Nucleus
AT

C Mitochondria

E IR IE=R)|

D Entire cell

QT qel

Answer |C




Id
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Question In human body Vitamin A is stored in?
ATa R 7 faarfdd A &1 wgr dafea fear smar @

A Liver

Jpd
B Skin

oI
C Lung

ST
D Kidney

aar

S

Answer




Id

28

Question

Who propounded the theory of evolution?

o & fAeda & v aRa rar 2

A Spencer
n=vppy
B Darwin
g1t
C Wallace
drel|
D Huxley
g

Answer




Id 29
Question Flowerless plants are termed as:
7o e dier g §

A Phanerogams
AT

B Bryophytes
STy

C Thallophytes
AepISTH

D Cryptogams
[ER=dEiES:]

Answer |D




Id 30
Question Which of the following has the highest resistivity?
sAH ¥ Tl ITada gidrerehdr giar &

A Carbon

care|
B Constantan

-

C Nichrome

IGEL]
D Germanium

SHTATH

Answer




Id 31
Question The average weight of human brain about-
HIeTd- ATETSh &l AR SAaTeTaT Tehelell BT & 2

A 1.64 kg

B 1.36 kg

C 1.46 kg

D 1.63 kg

Answer C




Id 32
Question The Bernoulli's theorem is:
Seifell &l JHT &

A Energy conservation
FolT FIETOT

B Mass conservation
STeT EIETOT

C Both of these
T gl

D None of these
S H FIg el

Answer |A




Id 33
Question Which one of the following colour has maximum energy?
Al # @ @i a1 @1 AR dA Fair @l § 2
A Violet light
ofaredl eprer
B Green light
SUREIK]
C Red light
olTel JohIRT
D Yellow light
Aol Jehrer
Answer |A




Id 34
Question Solar radiation is measured by:
HIX fafeoT fohdeh GaRT AT ST g
A Pyrometer
qrsIHICY
B Astrometry
TECIHIY
C Barometer
RATET
D Manometer
HATHIEY
Answer |A




Id 35
Question X-rays was invented by:
T T HTASHR foham ar=m am:

A Hopkins
fafeia

B Roentgen
Jiecarel

C Marconi
HRRIAT

D Morse
dohel

Answer |B




Id 36
Question Who developed the atom bomb?
WA 947 A [Aenfad fhar 2
A Warner Von Braun
o} dled silet
B J. Robert Oppenheimer
St EE HAAGISFR
C Edward Teller
TSds Colk
D Samuel Cohen
Bepsre e
Answer |B




Id
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Question

Who developed the missile?

Ao fhaa [aefad $r 2

A

Warner Von Braun

g dle SileT

J. Robert Oppenheimer

ST EC INIAGIBHT

Edward Teller
TUsds coll

Samuel Cohen

HA3TST T

Answer




Id 38
Question Who developed the hydrogen bomb?
gIeaiolel 97 fohda fasfada fhar 2
A Warner Von Braun
o} dled silet
B J. Robert Oppenheimer
St EE HAAGISFR
C Edward Teller
TSds Colk
D Samuel Cohen
Bepsre e
Answer |C




Id
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Question

Who was the inventor of scooter?

THeT I AMaSHR foha o fohar ar 2

A Bradshaw
CENI]

B Adamlari
HTEHART

C Einstein
HISECTST

D Wim Ouboter
fa 3iteex

Answer




Id

40

Question

Which of the following has the lowest resistivity?

T A O Fgh AeTad gfaieesar g 2

A Silicon
fareiienler

B Silver
qrer

C Nichrome
IGEC:

D Ebonite

LG

Answer




Id 41
Question The device used for measuring potential difference is known as:
[AHEIR FI AYA & AT 3uler fRAT S arelr 3UehoT
A Potentiometer
gAY
B Ammeter
TFATY
C Galvanometer
AeTdaATHI
D Voltmeter
dlecHIY
Answer |D




Id
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Question

Which of the following units could be used to measure electric charge?

faega smaer & AU & fav Fefaf@a & @ foet gegat &
393rer fohar S & 2

Ampere

TFIR

Joule
Slel

a

Volt
dree

Coulomb

CarSIP=c)

Answer




Id 43
Question The unit for measuring potential difference is :
fa¥aeaR &I A9 & foT go1s §
A Watt
dc
B Ohm
3gH
C Volt
dlec
D Kwh
freitde ger
Answer |C




Id 44

Question Which of the following does not represent electrical power in circuit

fAefaf@d & @ i ar faegd ardar & gfafafca =& war
g ?

I’R

o a|m | »

IR
144
V2
R

Answer |B




Id
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Question

When the diameter of a wire is doubled, its resistance becomes:
STd AR T AT ST &1 STl &, ol $8ehr Ifaier fohcfar g1
SITQdTT ?

A Double
AT

B Four times
R T

C One-half
JTYT

D One-fourth
T AU

Answer




Id 46
Question Osteocytes are found in-
JTEcATBE gl 91T AT & ?
A Bone
ki 1ra)
B Blood
IFd
C Cartilage
HTeTerst
D Lymph
CollgT
Answer |A




Id 47
Question What do you call the study of fungi?
Hdeh o HEYTA I FAT Fgd @ ?
A Mycology
HATSHIATSI
B Parasitology
RIS
C Bacteriology
Sfraroy &
D Phycology
FIShlciall
Answer |A




Id 48

Question Ferns belong to which division of plants?

e frg ot & 3 & -

A Gymnosperms
JATIASTSIT

B Angiosperms
Eala Sl

C Thallophyta
FeNprser

D Pteridophyta

cRewrger

Answer |D




Id 49
Question Bryophytes are also called ------------ of the plant.
CIR AT IS CAIRC CI TS i JU—— Fgelld ¢ |
A Mammals
TAAURY
B Amphibians
3HATAT
C Reptiles
Al
D Insecta
$Ic
Answer |B




Id 50
Question Plant cell wall is made up of
qigeh ITAhT TR fohaehr o=ir gidr & 2
A Cellulose
Qefellst
B Glucose
AT
C Fructose
theFelot
D Sucrose
eI
Answer |A




Id

51-55

Unit Laboratory Assistant English
Read the following passage and answer the questions based on it.
At low tide he walked over the sands to the headland and round the
corner to the little bay facing the open sea. It was inaccessible by
boat, because seams of rock jutted out and currents swirled round
them treacherously. But you could walk there if you chose one of
the lowest ebb tides that receded a very long way. You could not
linger on the expedition, for once the tide was on the turn. It came
in rapidly. For this reason very few people cared to explore the
little bay and the cave at the back of it. But the unknown always
drew this man like a magnet. He found the bay fresh and
unlettered, as it was completely covered by the sea at high tide.
The cave looked mysteriously dark, cool and inviting, and he
penetrated to the farthest corner where he discovered a wide crack,
rather like a chimney. He peered up and thought he could see a
patch of day light.

Question According to the writer, the bay could not be reached by boat,
because

A It had numerous layers of rocks

B There were too many eddies

C It was facing the open the open sea

D There were seams of rock and treacherously swirling currents

Answer D

Question One could visit the bay

A At any time one chose

B on certain specified occasions

C When there was a low tide

D During the evening walk

Answer C

Question It was not possible to “linger on the expedition” because

A The water rose rapidly

B The tide turned quickly

C The tide turned sprightly

D The water rushed in with a great force




Answer C

Question He found the bay “fresh and unlettered” because

A The sea water had receded

B He was the first visitor there

C The high tide had just washed the litter away

D It was not frequented by people who would pollute it

Answer C

Question While passing through the cave, the writer discovered it

A Cool and secluded corner

B Large opening

C Chimney — shaped rock

D Big crack through which light came in

Answer D

Id 56 —58

Unit Laboratory Assistant English
Pick Out the most effective word from the given words to fill in
the blank to make the sentence meaning fully complete.

Question In the modern world, the ....... of change and scientific innovation
is unusually rapid.

A Requirement

B Fantasy

C Pace

D Context

Answer C

Question The unprecedented economic growth of China has ...... worldwide
attention.

A Attracted

B Proposed

C Perceived

D Astonished




Answer A

Question Each business activity ...... employment to people who would
otherwise be unemployed.

A Taking

B Finds

C Creates

D Provides

Answer D

Id 59 - 60
Read the following question carefully. In each of the question there
are given an error in one word or phase in “BOLD” choose the
word or phase from the given alter natimes which may replace the
word on phase in BOLD.

Question It will depend now on they coming on time.

A Their Coming

B They Come

C They Coming

D No Correction

Answer A

Question I will depended now on they coming on time.

A Their Coming

B They Come

C Them Coming

D No Correction

Answer

B




Id 61

Question | g&y gfer i &1 a7 ffav|

scdaH
A s+ UaH
B sfaA+ 73
C sfa+ Tae
P sfa + g
Answer |C
Id 62

Question \fxHg & & IrAAS Uug g 9

A qeqeredr

B feamat

C [EGICAI

D Afeafiug.
Answer |B

Id 63
Question TIToT, “TEETT Aser H 3qET T
5

B ¥4, &

C @, g

D ¥q, q
Answer |C




Id 64

Question | gyl ereg FT TIT FST -

AT
A GRT
B I
C JHAT
D ftteol
Answer B
1d 65
Question fyeiia greg / fFAudIaTe ereg -
TSI
A Dicn)
B faaes
C IERIcC
D GRIcC)

Answer |C

Id 66

Question | Rrafaf@d weg-gea & A& 319-8g F1 T4 AT -
3ferel-31eTer

A raT-gar

B gar-arel

C STl

D &aT-37T9T

Answer |D




Id

67

Question

frtfaf@d # & a8 ee-efr &1 gora Hifavl

A IGCAGH

B IGCACH

C IGCACH

D IGCAC

Answer B

Id 68

Question | Frafaf@d aFg & v 38 A U v [eedl & ¥ 39 TR
a Rfega HST -
Jorierd o gl g o ‘Taarer &l & ATsT 7 gefer o gr e
3

A ATROT qTeFg

B T ATy

C T T

D T ag

Answer |D




Id 69

Question |gre & fhaa EE oy g ?

A e

B ar

C IR

D arg

Answer |A

Id 70

Question H AT @ g § 5 dFT H sdRlon de AT RIfe-

A A $eRTe

B T S

C 3ot HAPTe

b Afeaer sydenrel

Answer |B

Id 71

Question |A man spends 75 % of his income. His income increased by 20 % and he
increased his expenditure by 15 %. His savings will then be increased by:
Teh STFd YA 3T HT 75 % T FIAT § 3FhT 3T 20% T &
St € 3R a8 39S @I H 15% T gefTr X a1 &, ar 38 §9d
3 frar e 1 gafr gl 2

A 33%

B 1

33 3 Y0

C 35%

D 40 %

Answer |C




Id
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Question

A bank offers 15 % compound interest per half-year. A customer deposits Rs
2400 each on 1 January and 1st July of a year. At the end of the year, the
amount he would have gained by way of interest is —

Teh doh Iecariier T & 15% Thdg e SATST Sl YAHKA T & | Teh
AqMeeh Toh a¥ H 1 STeAadl R 1 Sell$ Y 2400 % STAT Il ¢ | ay
% 3T H U & ATEIH F 30 vl TR HT 18T glam 2

A Rs.2,268

B Rs.1,134

C Rs.567

D Rs.283

Answer |B

Id 73

Question | Two equal sum were lent out at 7% and 5% S.I respectively. The interest
earned on the two loans add up to X960 for 4 years. The total sum lent out is
ar SeY TR FAM: 7% 3R 5% & FTURUT AT W IR & TS|
el ol W AT sareT4a¥ #F 3960 3 &1 3UR & 918 ol A
ddrg]|

A Rs3500

B Rs2500

C Rs2000

D Rs3000

Answer |C




Id
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Question

The simple interest on Rs. 4,000 in 3 years at the rate of x % per annum
equals the simple interest on Rs. 5,000 at the rate of 12% per annum in 2
years. The value of x is

Rs. 4,000 T TFA 9T x% FT T T 3TNF T JTURUT TS, Rs. 5,000 T
Tfr W 12% HT T T 238" & ITIROT AT & e gl x FT AT
qdT7|

10%

6%

8%

o Q w >

9%

Answer

A

Id

75

Question

If a person purchases a shirt, he gets 6 % discount. However, if he purchases
two shirts, he gets 5 % on the first and 8 % on the second. If the price paid
by the person for two shirts is Rs. 925, then what will be the marked price of
each shirt?

i U AP T FHasl Tledr & dF 38 6% Te Ired gl & |
Seafer Ife ag & FHe @A AT 39 ggell FHIT W 5% 3R q@l
hATST W 8% Te AN | afe afFd g@rr ar Fest & faw T 925
T AT fhaT 1T § A Ucdeh FFlSl HT fohd Hed AT BaM?

Rs. 494

Rs. 550

Rs. 528

o O w >

Rs. 500

Answer

A




Id
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Question

In a class, the average score of girls in an examination is 73 and that of boys
is 71. The average score for the whole class is 71.8. Find the percentage of
girls.

Teh Q8T H,Ush hell o oIsfhdl T 3T Ircdies 73 & I2T oISl &l
AT wredier 718 | 9 et & 3ad gredres afg 71.88, ar
orsfohal &1 gfaerd Ard #32

A 40 %

B 50 %

C 55%

D 60 %

Answer |A

Id 77

Question |75 gm of sugar solution has 30 % sugar in it. Then the quantity of sugar that
should be added to the solution to make the quantity of the sugar 70% in the
solution is :
75 ATH & TIeil & 8ol H 30 % Al ¢ | o °er H fohcsir =elr srell
ST foh &7 8l H 70 % el §I?

A 125 gm

B 100 gm

C 120 gm

D 130 gm

Answer |B




Id
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Question

If two persons, with equal abilities, can do two jobs in two days then 100
persons with equal abilities can do 100 similar jobs in

AT HIALTHAT Tl & e 2 AT #F 2 & X g dl, 100 GAT
FIITHAT dTel o9l 38T dE & 100 HIH AT hded & H TeH HLar

?

100 days

10 days

5 days

o Q| w >

2 days

Answer

D

Id

79

Question

A boy rides his bicycle 10 km at an average speed of 12 km/hr and again
travels 12 km at an average speed of 10 km/hr. His average speed for the
entire trip is approximate:

Teh Isehl 12 fohal./aer &7 ater ¥ 10 fhal. de 319er asfhe &
ITET AT § Gol: der garr 12 forell. ek 319eir

arsfeher 10 fohelt./eer T a1fd @ Tellar 81 FoT IET & SRIT 3T
3iEd are §av|

10.4 km / hr

10.8 km / hr

11.0km/ hr

o O w >

12.2km/ hr

Answer

B




Id
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Question

In a 100 m race, Kamal defeats Bimal by 5 seconds. If the speed of Kamal is
18 kmph, then the speed of Bimal is

100 #eT FT gl & FAe [GHST F 5 ks T g7 T ¢ TG hAd
$r a1t 18 forel). wfa ger & ar faaa i arer Iag|

A 15.4 kmph

B 14.5 kmph

C 14.4 kmph

D 14 kmph

Answer C

Id 81

Question | A train is moving at a speed of 80 km/ h and covers a certain distance in 4.5
hours. The speed of the train to cover the same distance in 4 hours is
TS ISt 80 fohall / €eT &1 aTel & Tord gU Ueh ARad g &t
459U H T A § | 3R FEI g 4 90C H dF e gl Al
3R TTeT ST el 2

A 100 km /h

B 70 km/h

C 85km/h

D 90 km/h

Answer |D




Id
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Question

AD is the median of a triangle ABC and O is the centroid such that AO =10
cm. The length of OD (in cm) is

AD f38[sT ABC &1 HAIfETST 8 | 0FH YR &g 8, fh AO=10cm
g | OD &I TFa1S AT F?

A 14

B 5

C 6

D 8

Answer |B

Id 83

Question |Out of the given responses one of the factors of

(a*=b* P +(b*= )P +(c*—a®) is

U A A (-5 +(b"- ) +(*—a) T Teh 0TS
gIam

A (a+b)(a=b)

B (a+b)(a+b)

C (a=b)(a—b)

D (b—c)(b—c)

Answer |A




Id
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Question

The product of two numbers is 9375 and the quotient, when the larger one is
divided by the smaller, is 15. The sum of the number is:

al TEAT3T T IUAR 9375 8| S §ST TEAT T B F&AT A
fasiora foham STar & o, ARTher 15 377aT &1 TEIT3iT &1 3T Ard
2

A 395

B 380

C 400

D 425

Answer C

Id 85

Question |Find the inner surface area of all walls of a rectangular room with length 7 m
breadth 5 m and height 3.5 m -
T IMIATRR FFRX HT T At H7 HARF 56 & Thel AT HY
g dars 7 M gl s 3k 33 3.5

A 84m’

B 168m”

C 126m’

D 42m’

Answer |A




Id
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Question

A solid copper sphere of radius 1.2 cm is converted into a right circular
cylinder rod of length 16 cm. The ratio of total surface area of the rod to the
sphere is

1.2 TEHTeY AT dTell T 31 did & el I 16 TAT oIS arel
T I SelAlhR A5 H deell SA1r g1 AS & Fel IS Fclg
&Ahel T Il & Fel ISET Tcdg F 3HIUTd fhcfalr grom?

A 7:3

B 7:4

C 7:5

D 7:6

Answer |D

Id 87

Question | From two points on the ground lying on a straight line through the foot of a
pillar, the two angles of elevation of the top of the pillar are complementary
to each other. If the distance of the two points from the foot of the pillar are 9
meters and 16 meters and the two points lie on the same side of the pillar.
Then the height of the pillar is
STefeT o & oY fdigait & @dt & 3=u fdg3it & 3e=1gel lvr T-
R & W 1 I uge g dur gl g & @9 & uig & g
FOH. dAT 16F.§ | @H HT 95 ATd FY |

A S5m

B 10 m

C 9m

D 12 m

Answer |D




Id
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Question

The average weight of three men A, B and C is 84 kg. D joins them and the
average weight of the four becomes 80 kg. If E whose weight is 3 kg more
than that of D, replaces A, the average weight of B, C, D and E becomes 79
kg. The weight of A is:

dlel safFaar A, BUd C & 3Ad aoid 84 kg | T 3T hfad

D §FATIT 8T g, Toas SRuT SaiFaar o a1 3d 80 kg &1 ST
g | Ife, ETSTeT aaid, D& aofd ¥ 3kg 310 &, A & wfaeafa
AT & | B,C,DTT El 147 3 9d 79kg 8 ST & | A Toled
AT A

A 65 kg .

B 70 kg .

C 75 kg.

D 80kg .

Answer |C

Id 89

Question | A man purchased a bed sheet for Rs. 450 and sold it at again of 10 %
calculated on the selling price. The selling price of the bedsheets was
Teh eqfard o 450 %9 H Teh 952 TGl 38 9.7, & 10% e
W ST e, @ asefe & 3., AT |

A Rs. 460

B Rs . 475

C Rs . 480

D Rs . 500

Answer |D




Id
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Question

A number, on subtracting 15 from it reduces to its 80 %. What is 40 % of the
number?

Ush &7 ¥ 19 15 9T SATdT §,d7 dg gca 80% & Sl &,dr 39
TEAT AT 40% fohaeIr gem?

A 75

B 60

C 30

D 90

Answer C

Id 91

Question | The length of one side of a rhombus is 6.5 cm and its altitude is 10 cm. If the
length of its diagonal be 26 cm, the length of the other diagonal will be :
forell Faaqelsr 1 st 6.5 A, AT 3T Mo 109ALE |
T 3w T TR T oS 26 WA, @, A qE Rt B wws
AT 2

A Scm

B 10 cm

C 6.5 cm

D 26 cm

Answer |A




Id
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Question

The angle of elevation of the top of two vertical towers as seen from the
middle point of the line joining the foot of the towers are 60° and 30°,
respectively. The ratio of the heights of the tower is

al FedeR TRl & MY F TRl & YR HT Siged dlell @1 H
A &g @ 3Tl HI0T HAT: 60° 3 30° §. T AT Fa1S A

3FeTUTeT T &2

A 2:1

B V31

C 3:2

D 3:1

Answer |D
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Question | A number is divided into two parts in such a way that 80% of 1* part is 3
more than 60% of 2nd part and 80% of 2nd part is 6 more than 90 % of the
Ist part . Then the number is:
Th HEAT Hl g AN H 39 YR diel Al ¢ [ ggel HT FHT 80%
, ST AT & 60% @ 3 31 &, R qE AT HT 80%,9gel AT &
90% H 6 38 g, dr &A1 AT ¢ 2

A 125

B 130

C 135

D 145

Answer |C
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Question

If the difference between the roots of the equation AX’+BX+C=0 is4,
then which of the following is TRUE?

g FHAEOT ax*+Bx+C=0 & Hell & HR48,ar Aeafaf@a & &
PII-AT T g2

A B’—16A’=4AC+4B’

B B’ —10A’=4AC+6A’

C B —8 A’=4AC+10A"

D B~ 16A’=4A°+8B’

Answer |B
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Question | A trader had 2000 kgs of rice. He sold a part of it at 10 % profit and the rest
at 16 % profit so that he made a total profit of 14.2%. How much rice (in kg)
did he sell at 10 % profit?
freY RAhar & 91 2000 fF.am. T/9e § | 3T U AT Hl d8 10%
oM X TTUT S §T T T 16% AT TR AT § olfch 38 Fol olreT
14.2% 81 381 fohclel Toh. 3T ATl 10% ST I S=1?

A 1400

B 600

C 800

D 1000

Answer |B
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Question

In how many different ways can letters of the word ‘SECOND’ be arranged?

‘SECOND’ reg & 31&RT &l fohdal 3719 -37cl9T dllehl ¥ cgafiead
fpaT ST Fehar § 2

A 720
B 120
C 5040
D 270
Answer |A
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Question | What approximate values should come in place of the question mark(?) in
the following question?
V2228=?
fArAfaf@d wa & g Reg (7)) F TUH W FA7 AT AT
3T AIRT 2
V2228=?
A 57
B 47
C 67
D 37
Answer |B
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Question

Simran started a software business by investing Rs. 50,000. After six months,
Nanda joined her with a capital of Rs. 80,000. After 3 years, they earned a
profit of Rs. 24,500. What was Simran's share in the profit ?

f@#ReT 7 50,000 G T 7T AT Teh AIFCAI HT TIA0T UE
farl 6 AL 91 FaT & 80,000 ¥ HT YST FRIH AISGR &
I S 3 Aol &G 3ol 24,500 TG I A1 HART df AT

T o H fFEar a1 gren?
A 12,421
B 9,423
C 11,600
D 10,500
Answer |D
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Question | The area of triangle is half the area of square. The perimeter of the square is
224 cm. What is the area of triangle?
T38[eT o1 &Tathel GaT T JTem & | 99T s aRT& 224 QT § | FegeT o
& A%hel AT § 2
A 1856 cm’
1856 991 QT
B 1658 cm’
1658 991 @Y
C 1558 cm’
1558 TaT |AT
D None of these
ST H PIg AL
Answer |D
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Question | A man buys a table and a chair for 500. He sells the table at a loss of 10 %
and the chair at a gain of 10 %. He still gain Rs.10 on the whole. The cost
price of chair in rupees is

HIS i Teh A AR Teh H&l I500 7 Tlhear g | ag AT 10%
gifel o 3R & 10% % o7 X S=ar & | O o 38 el AT
T 10T &TeT I & | &l T T Hed TUA H TAS0?

A Rs. 200
B Rs. 250
C Rs. 300
D Rs. 350

Answer |C




